

ESTIMATEAPRANA AUTO
KIRNAPUR

No.: 1460

Page: 1

Date: 26/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
1	AR2028	A.R.	PETROL TEE LOCK TYPE	PULSAR DTSI	1		130.20	130.20
2	ARF7514	ARF (M)	PETROL TAK LOCK	XL SUPER	1		100.75	100.75
3	CH004	CHARAN	CHAIN COVER	SPLENDOR	1		351.00	351.00
4	CAI1122	CHARAN	CHAIN COVER PVC	XL SUPER	1		60.00	60.00
5	CAI1430A	CHARAN	METER COWLING	SPLENDOR NX	1		78.00	78.00
6	PA9720	COMMON	NUMBER PLATE COVER S/2	100CC	2		25.00	50.00
7	AC1	COMMON	BANDIX	ACTIVA	1		350.00	350.00
8	CS1	COMMON	COLOUR SPRAY	100CC	2		100.00	200.00
9	DXC06	DEMAX	ACC CABLE BS6	PASSION PRO	2		100.10	200.20
10	CD1920C	DEMAX	CHOKE CABLE	DUET	1		105.05	105.05
11	CD2174C	DEMAX	CHOKE CABLE	SHINE	1		52.25	52.25
12	CD2004B	DEMAX	SPEEDO METER CABLE	SPLENDOR	1		60.50	60.50
13	DRV207	DRIVEN	HEAD LIGHT MASK A.W	PASSION PLU	2		210.00	420.00
14	DRV102	DRIVEN	FRONT MUDGUARD	CD DLX	2		195.00	390.00
15	F800207704	ENDURANCE	MAIN TUBE	SPLENDOR	2		480.00	960.00
16	S95100701M	ENDURANCE	SHOCKUP REAR	PASSION PRO	2		618.28	1236.56
17	E0G20	EROW	OIL PUMP GEAR N/M	ACTIVA	2		28.60	57.20
18	E788	EROW	HEAD LIGHT BRACKET	SPLENDOR NX	1		286.00	286.00
19	E6508	EROW	HANDLE BAR	DISCOVER	1		220.00	220.00
20	E5704	EROW	LADY FOOT REST	PASSION PRO	1		93.50	93.50
21	E9001BS	EROW	BRAKE ROD BS6	SPLENDOR	1		49.50	49.50
22	0113	ESTO	NUT BOLT & WASHER 10X25	100CC	100		2.29	229.40
23	2336	ESTO	BALL HEAD RACER SET	XL SUPER	2		155.00	310.00
24	1458	ESTO	BALL HEAD RACER SET	HH	2		152.52	305.04

Carried Forward:

133**6295.15**

Discount

0.00

ESTIMATEAPRANA AUTO
KIRNAPUR

No.: 1460

Page: 2

Date: 26/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
25	15013	ESTO	LADIES HANDLE W/HOOK PC	100CC	2		43.40	86.80
26	4058	ESTO	CLUTCH PULLY NUT	ACTIVA	2		15.50	31.00
27	2204A	ESTO	REAR AXLE	XL SUPER	2		80.60	161.20
28	4346	ESTO	BRAKE PEDAL	STAR	1		161.20	161.20
29	4027A	ESTO	FRONT FORK LINK BUSH (N/M)	ACTIVA	2		49.60	99.20
30	1922D	ESTO	BRAKE ROD	DISCOVER 11	1		47.12	47.12
31	15053	ESTO	HEAD LIGHT MASK PATTI	PASSION PRO D	2		24.80	49.60
32	1936E	ESTO	GEAR SHAFT XCD	DISCOVER 10	1		147.56	147.56
33	1545	ESTO	CAM SPROCKET BOLT	HH	10		2.48	24.80
34	2057	ESTO	MAGNET KEY	LUNA	10		1.24	12.40
35	15043A	ESTO	TAIL LAMP SCREW	SPLENDOR SU	10		0.84	8.43
36	HOPE997	HOPE	OIL PUMP SPROCKET	HH	2		37.20	74.40
37	HOPE164	HOPE	CAM SPROCKET	STAR SPORTS	1		48.36	48.36
38	HOPE0671	HOPE	CLUTCH YOKE	HH	2		50.84	101.68
39	EHOPE0634	HOPE	CLUTCH YOKE	KB4S	2		42.78	85.56
40	HOPE371	HOPE	PRESSURE PLATE	HH	2		59.52	119.04
41	HOPE2752A	HOPE	SIDE STAND BRACKET	SPLENDOR	1		37.20	37.20
42	HOJU	HOPE	LEVER SET	JUPITER	1		77.50	77.50
43	HOPE0631	HOPE	LEVER SET	HH	2		77.50	155.00
44	HOPE640	HOPE	LEVER SET	PULSAR	1		109.74	109.74
45	HO402	HOPE	LEVER SET	SHINE	1		104.16	104.16
46	HO150S	HOPE	FRONT SPROCKET	DISCOVER 15	2		42.78	85.56
47	HOPE985	HOPE	HANDLE FITTING	HH	1		77.50	77.50
48	J63	JUMBO	PICK UP COIL	SPLENDOR	2		80.60	161.20

Carried Forward:

196**8361.36**

Discount

0.00

ESTIMATEAPRANA AUTO
KIRNAPUR

No.: 1460

Page: 3

Date: 26/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
49	J701	JUMBO	IGNITOR	XL SUPER	1		225.68	225.68
50	KQ058	KING	CLUTCH CENTER	DREAM YUG	1		86.40	86.40
51	KQ059	KING	CLUTCH HUB 110CC	DREAM YUG	1		130.80	130.80
52	KQ180	KING	CLUTCH HUB	YBX	1		178.20	178.20
53	KQ260	KING	CLUTCH HUB	HH	2		141.00	282.00
54	MKHH	MK B.S	BRAKE SHOE	HH	5		75.00	375.00
55	OT4	O.T.	TIMING KIT	HH	2		270.00	540.00
56	PA111	O.T.	TIMING KIT O.E	PASSION XPR	1		320.00	320.00
57	NCH6902	O.T.	BEARING 6902/6905 SET	HH	1		75.00	75.00
58	CS	PEE AAY	CLUTCH SHOE	ACTIVA	1		396.20	396.20
59	PA***4	PEE AAY	CLUTCH (LIFT) PLATE	DISCOVER 10	2		42.00	84.00
60	ACTA	PEE AAY	SELF BODY COVER ALUM.	ACTIVA	1		49.00	49.00
61	TMC2541	PEE AAY	TAIL LAMP BRACKET	SPLENDOR	1		63.00	63.00
62	P625	PINNACLE	HEAD LIGHT MASK	DREAM NEO	1		273.00	273.00
63	P518	PINNACLE	HEAD LIGHT MASK N/M SS	CD DLX	1		249.00	249.00
64	P540	PINNACLE	HEAD LIGHT MASK (S/S)HUF	CD DLX LTS	1		237.00	237.00
65	P598	PINNACLE	HEAD LIGHT MASK	DISCOVER 12	1		396.00	396.00
66	P1156	PINNACLE	HEAD LIGHT MASK	SPLENDOR SU	1		369.00	369.00
67	P810	PINNACLE	FRONT MUDGUARD	CD DLX LTS	1		279.00	279.00
68	P307	PINNACLE	TAIL PANNEL S\03	CD DLX LTS	1		285.00	285.00
69	P331	PINNACLE	TAIL PANEL L 2015	CD DLX	1		315.00	315.00
70	P338	PINNACLE	TAIL PANEL I3S SMALL PLATE	SPLENDOR PL	1		312.00	312.00
71	P114	PINNACLE	SIDE PANEL N/M SS	CD DLX	1		330.00	330.00
72	P810A	PINNACLE	FRONT MUDGUARD N/M	CD DLX	1		297.00	297.00

Carried Forward:

227

14508.64

Discount

0.00

ESTIMATEAPRANA AUTO
KIRNAPUR

No.: 1460

Page: 4

Date: 26/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
73	P506	PINNACLE	HEAD LIGHT MASK	SPLENDOR PR	1		228.00	228.00
74	P540	PINNACLE	HEAD LIGHT MASK (S/S)HUF	CD DLX LTS	2		255.00	510.00
75	P120	PINNACLE	SIDE PANNEL (HF DLX)	CD DLX LTS	1		360.00	360.00
76	SBA4126	PINNACLE	REAR MUDGUARD PVC	CT100	1		324.00	324.00
77	B25HSBSD9	ROLON	TIMING CHAIN N.M BLACK	ACTIVA	2		101.25	202.50
78	RB25HSCS9	ROLON	TIMMING CHAIN	SHINE	2		108.00	216.00
79	HBSD62	ROLON	SELF CHAIN	PASSION PRO	2		72.00	144.00
80	TCUNI	ROLON	TIMING CHAIN KIT	UNICORN	1		250.50	250.50
81	RASL259	SELON	ROCKER SET O.M	ACTIVA	1		150.00	150.00
82	CASL608	SELON	CAM SHAFT ASSY	ACTIVA	1		411.00	411.00
83	SEL102	SELON	ROCKER SET	PASSION XPR	1		207.00	207.00
84	SS403	SIMPLEX	FORK SPRING	KB4S	1		113.40	113.40
85	SS657	SIMPLEX	KICK SPRING	ACTIVA	2		27.72	55.44
86	SS123	SIMPLEX	SIDE STAND SPRING	HH	5		11.66	58.28
87	SS215	SIMPLEX	STAND SPRING	SPLENDOR	2		20.16	40.32
88	SS--I3	SIMPLEX	KICK SPRING	UNICORN	1		23.94	23.94
89	S8303	SIO	TIMING PAD SET OF 2	ACTIVA	2		96.00	192.00
90	S1003	SIO	OIL SEAL TOP GEAR	HH	10		9.60	96.00
91	S66A	SIO	OIL SEAL KIT	SHINE	2		66.00	132.00
92	SIOYUGA	SIO	ENGINE OIL SEAL KIT	DREAM YUG	2		66.00	132.00
93	S01	SIO	ENGINE OIL SEAL KIT	HH	2		42.00	84.00
94	S03E	SIO	ENGINE OIL SEAL KIT	PASSION PRO	2		84.00	168.00
95	S31	SIO	ENGINE OIL SEAL KIT	XL SUPER	5		42.00	210.00
96	S65A	SIO	ENGINE OIL SEAL KIT	ACTIVA	1		75.00	75.00

Carried Forward:

279**18892.02**

Discount

0.00

ESTIMATEAPRANA AUTO
KIRNAPUR

No.: 1460

Page: 5

Date: 26/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
97	S03F	SIO	ENGINE OIL SEAL KIT	PLEASURE	1		84.00	84.00
98	SAT9	SIO	OIL SEAL KICK SHAFT	STAR	2		10.80	21.60
99	HIS001A	SK	PACKING KIT N/M 110C	SPLENDOR (I)	1		132.24	132.24
100	T4S004A	SK	CLUTCH PACKING GREEN	XL 100	3		23.95	71.86
101	CLB002	SK	HALF PACKING KIT GREEN	CALIBER	2		40.60	81.20
102	STR002	SK	HALF PACKING KIT GREEN	STAR	2		40.60	81.20
103	ACT002A	SK	HALF PACKING KIT GREEN	ACTIVA	2		36.54	73.08
104	SHN002A	SK	HALF PACKING KIT	SHINE	2		34.80	69.60
105	DKS703A	SK	TIMING CHAIN TENSIONER	STAR SPORTS	1		105.56	105.56
106	TSS001A	SK	PACKING KIT GREEN	XL SUPER	5		44.08	220.40
107	T4S001A	SK	PACKING KIT GREEN	XL 100	1		79.46	79.46
108	HH002A	SK	HALF PACKING KIT GREEN	HH	2		63.22	126.44
109	CBT007A	SK	MAGNET COVER PACKING GREEN	DREAM YUG	2		15.72	31.44
110	S6205	SPEEDE	BEARING 6205	100CC	2		72.00	144.00
111	HA44N	STEELBIRD RB	HEAD COVER BEEDING	ACTIVA	3		45.50	136.50
112	HE44	STEELBIRD RB	HEAD GASKET	UNICORN	2		38.50	77.00
113	KB39	STEELBIRD RB	COIL PLATE SEAL KIT	KB4S	2		24.50	49.00
114	HS47	STEELBIRD RB	SILENT BLOCK BUSH	SHINE	2		98.00	196.00
115	HA51A	STEELBIRD RB	AIR FILTER (O/M)	ACTIVA	1		105.70	105.70
116	KB63S	STEELBIRD RB	OIL FILTER	CALIBER115	2		24.50	49.00
117	TX1092	TEXO	FRONT FOOT REST RUBBER	SPLENDOR	1		40.30	40.30
118	TX1543	TEXO	CARB MANIFOLD RUBBER	PULSAR	1		22.32	22.32
119	TX5492	TEXO	HOSE PIPE N/M	SCOOTY	2		16.74	33.48

Carried Forward:

323**20923.40**

Discount

0.00

ESTIMATEAPRANA AUTO
KIRNAPUR

No.: 1460

Page: 6

Date: 26/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
120	TX100002	TEXO	FAN COVER	XL SUPER	1		44.64	44.64
121	TX5518	TEXO	MAGNET FAN	XL SUPER	1		24.80	24.80
122	TXR1318	TEXO	AIR FILTER OE	PEP	2		39.68	79.36
123	T727	TMC	TAIL LAMP COVER	CD DLX LTS	2		67.20	134.40
124	T321	TMC	HEAD LIGHT DOOM	PULSAR 150	2		36.96	73.92
125	T891	TMC	SPEEDO METER CASE	DISCOVER 10	1		159.60	159.60
126	T1663	TMC	MIRROR N.M	XL SUPER	2		57.12	114.24
127	P070430	TVSOE	CLUTCH SHOE ASSY	XL SUPER	2		480.81	961.62
128	SWCHUNVR	VARROC	HEAD LIGHT ON OFF SWITCH	100CC	2		55.38	110.76
129	STMSPLSRF	VARROC	FLYWHEEL ONE WAY	PULSAR	1		528.06	528.06
130	VLSLHH2W	VARROC	VALVE SEAL	HH	10		42.90	429.00
131	STMRPSR3	VARROC	SELF ASSY.	PASSION PRO	1		1113.06	1113.06
132	REGRATVA	VARROC	R.R.UNIT BS5	ACTIVA	1		733.20	733.20
133	VKT4	VKT	PETROL TANK COVER MOBILE POCKET	100CC	2		95.00	190.00
134	TOP2	VKT	SEAT COVER TOP LOSSES	100CC	5		45.00	225.00

358**25845.06**

** No Guarantee for Plastic / Electronic Items **

Discount

0.00

** Warrenty on Plastic / Electronic Items as per Manufacturer's advice. **

Packing :

40.00

Total :**25885.00**